

SAMBALPUR MUNICIPAL CORPORATION: SAMBALPUR Odisha - 768001

Phone No. 0663-2411316 / E Mail: sambalpurm.hud@nic.in

Notice No:

7034

/SMC

Date 03/08/2024

Expression of Interest

Sealed EOI is invited from the agencies empanelled and approved by Directorate of Horticulture, Bhubaneswar, Odisha for development of two number of Nurseries under SMC area (i, e. One inside Sen Park, Gole bazar and one inside Burla Micro Composting Centre) .saDetail scope of Nursery work along with financial proposal attached in annexure-A. Bid documents will be available in the official website of the SMC (www.smcsambalpur.nic.in)Upto 20.08.2024 5.00 P.M. The last date for receipt of documents 20.08.2024 at 2.00 P.M through registered post/speed post only, to the Office of the Commissioner, Sambalpur Municipal Corporation, Durgapali-768006 superscribed the envelope "Expression of Interest for Empanelment of Agencies for developments of nurseries under SMC Area.". Authority will not be responsible for any postal delay. The authority reserves the right to reject any or all tender without assigning reason thereof. Selection will be made on lowest financial price.

All the prospective bidders should submit the following documents along with the financial bid (Annexure-A) for participating in the EOI process for empanelment.

Eligibility criteria for the bidder/Documents to be submitted:

- 1. Valid emplaned letter from the department of horticulture.
- 2. PAN and GST
- 3. Experience certificate
- 4. Annual average turnover at least Rs. 5 Crores from last three financial year (FY-2020-21,2021-22 &2022-23)
- 5. Firm shall have at least five years of existence in the field development of Nurseries.
- 6. The firm should have head office /branch office in western Odisha.
- 7. Financial proposal in annexure-A
- 8. Non-refundable tender fees of Rs.2,000/-(Rupees Two Thousand) only and refundable EMD of Rs.5,000(Rupees Five Thousand) only in shape of demand draft in favour Commissioner, Sambalpur Municipal Corporation payable at Sambalpur.

Commissioner
Sambalpur Municipal Corporation

7036 Memo No-----

Dtd. 03.08.2001

Copy to Establishment sections/MIS, SMC for wide publication of EOI Notice in Notice Board for wide circulation.

Sambalpur Municipal Corporation

SELECTION CRITERIA FOR FIRMS

The empaneled bidder shall be evaluated on the following two conditions. Desk evaluation shall have 30 of the total marks & presentation carry 70 marks(Technical). Min. marks required for bidder/ firms to be selected for empanelment.

a. Desk evaluation – total marks 30

Sr.	Criteria	Proofs/ supporting	Marks	
no.		documents		
1	de retopinente ce mamiento		20	
2	The firm should have min. 10 full-time employees on its payroll and shall demonstrate its capacity to be able to deploy adequate manpower required to Develop, operate and maintain nurseries	Certificate in letter head from the HR of the firm.	10	
Total	F7-F		30	

Firm should have secured at least 30(thirty) mark for qualifying for the presentation stage

b. Presentation by the firms

Each participating firm shall have to make a presentation explaining the understanding of the project & conceptual designs for the development & maintenance of nurseries. Below is the detailed marking criteria for the presentation.

Sr. no.	Criteria	Marks			
1	Understanding of concept of the development & maintenance of nurseries				
2	Conceptual design of the development & maintenance of nurseries	25			
3	Financial model – details showcasing understanding & capacity to ensure sustained revenue generation in development & maintenance of nurseries.	15			
4	Ideas & models suggested for the overall O&M strategy for development & maintenance of nurseries	10			
5	Staffing plan for O&M of the nurseries	10			
	Total	70			

Time & venue for the presentations shall be conveyed later to the participating firms. Minimum cut-off mark for opening of the financial proposal should be 70 out of 100(both technical & presentation).

Municipal Commissioner
Sambalpur Municipal Corporation
Sambalpur

Material, Quantity & Specification for each Nursery

Shadenet DomeShape, Size-16mX31.6m(505.6sqm), Gridsize-8mx4m, Top Height-4.5m

S.No.	Material Specification	Mtr	Nos	Total	Kg/m	Qty	Unit	Rate	Total amount
	GI Pipes :								
	Foundation Pipe 48 mm OD & 2.9mm thick 1.2 m length	1.2	24	28.8	3.25	93.6	Kg		
	Main coloumn Pipe 60 mm OD & 2.9mm thick	4.5	6	27	4.11	110.97	Kg		
	Small coloumn Pipe 60 mm OD & 2.9mm thick	4	18	72	4.11	295.92	Kg		
	Unsupported coloumn 43mm OD & 2.9mm thick	1.5	8	12	2.88	34.56	Kg		
	Small bottom 43mm OD & 2.9mm thick	4	8	32	2.88	92.16	Kg		
	Big bottom 43mm OD & 2.9mm thick	8	8	64	2.88	184.32	Kg		
	Arc 43mm OD & 2.9mm thick	4.5	24	108	2.88	311.04	Kg		
	Arc Member pipe 33mm OD & 2.6mm thick	1.5	24	36	1.98	71.28	Kg		
	Joint 33mm OD & 2.6mm thick	0.3	12	3.6	1.98	7.128	Kg		
	Hockey Pipe 43mm OD & 2.9mm thick	5	22	110	2.88	316.8	Kg		
	Hockey Member Pipe 43mm OD & 2.9mm thick	1.2	22	26.4	2.88	76.032	Kg		
	Coloumn Member Pipe 33 OD 2.6 mm thick	1.5	24	36	1.98	71.28	Kg		
len.	Top, End & Gutter Purlin Pipe 43mm OD & 2.9mm thick	4	24	96	2.88	276.48	Kg		
100	Apron purlin pipe 33 OD 2.6 mm thick	4	18	72	1.98	142.56	Kg		
	Cross Bar pipe 33 OD 2.6 mm thick	5.2	8	41.6	1.98	82.368	Kg		
	Tie Bar pipe 33 OD 2.6 mm thick	4	10	40	1.98	79.2	Kg		
	Door Pipe 43mm OD & 2.9mm thick	4	4	16	2.88	46.08	Kg		
	Total					2291.78	Kg		
2	Agroshade Net Green Tape X Tape (50%) (4.2 m):		Widt	Length	Nos		0		
	Тор		4.2	54.01	4	907.368			
	Gabol		4	28.57	1	114.28			
	Corner		3	28.57	1	85.71			
	Door		4	28.26	1	113.04			
		Total				1220.4	Sqm		
3	Door : GI Frame with Agro Shade Net					1	Pcs		
4	Profile (GI):					360	Mts		
5	Door Handles Kabja (GI):					1	Set		
6	Self Tapping Screw:					505	Pcs		
7	Zigzag Spring :					470	Mts		
8	Total Nut & Bolt :					40) Kg		
9	Total Clamp					38	3 Kg		
10	Fabrication work at workshop :					505.6	Sqm		

Municipal Commissioner
Sambalpur Municipal Corporation
Sambalpur

11	Foundation :							
	Excavation of Foundation in Hard Soil			4.009	Cum			
	including sectioning and levelling bed within 50m initial lead and lift							
	Sand filling in Foundation and Plinth			1.98	Cum		2 03	
	Cement Concrete(1:3:6) with 20mm CB			1.98	Cum			
	Chips							
12	Erection of shadenet house in the field:			505.6	Sqm			
13	Irrigation System as per crop requirement			505.6	Sqm	-		
14	Transport cost			L.S				
	Total Amount :						<u> </u>	
	CGST (9%)							
	SGST (9%)							
	Grand Total							

Value of the Each Nurseries is Rs.4,60,000/-(Rupees Four Lakh Sixty-Thousand)only.

Municipal Commissioner Sambalpur Municipal Corporation Sambalpur